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hello world

Code Block
"Hello World™;

W
W
W

Code Block

Hello you 16 of MBD

W

"Hello you “; T
15;
" of MBD";

E X ) varunn : }
1.000 > y > -

'
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points

Family Types
MED _oneBrickGenericFlatz3H_1x1 ~

Family Type

Familylnstance.ByPoint
familyType Familylnstance

point

Point.ByCoordinates

> Point

Number

1000.000 = >

ReferencePoint.ByPoint

ReferencePoint

AUTD
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CubeToRevit

Browse... =

C:\.. AFamily Templates\English\Metric Generic Model.rft

Cuboid.ByLengths A Familylnstance.ByGeometry

width > Cuboid Eeometry > instance
——— \-1 famil | h > famil
amilyTemplatePat ami
o o :
height > test bb | > familyName >
AUTO category >
materialName b
Categories isvoid >
Generic Models ~ | Category subcategoryMame >
AUTOD
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WallByCurve

Point.Origin Number

Foint 1000.000 | >

AUTO

Line.ByStartPointEndPoint Wall.ByCurveAndHeight

Point.ByCoordinates startPoint > Line curve > wall
Number \4
i i height >
5000.000 > X > Paint endPoint > ”
y > AuTO level >
z > wallType >
AUTO AUTD

21_buitenwand_200 + | wall Type
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make your selection..

Select Model Element

Element

Element: 442511

Select Model Elements

Select Elements

Elements : 442511 444642 444905
445133 445274 445435 445493
445553 445573 445993 446005
446117 446134 446510 446592
446616 483962 522348 526203
554595

1H_4x6 442511

List

1H_4x6
1H_2x3
1H_2x2
1H_1x2
3H_1x2
1H_1x2
1H_2x3
1H_2x3
1H_1x4
1H_2x3
280 1H_2x3
T3 1H_1x2

L= - I U R

B2 g1

442511

444642
444905
445133
445274
445435
445493
445553
445573
445993

-9 =

445005
446117

125}
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f rom node S Current Node Name What they Represent
o000 . .
Family Types Placeable Family Types
Element Types System Family Categories
All Elements of Family Type All Instances of Family Type
All Elements of Type All Instances of System Family Category
References Categories All Elemepts of Category All Instances of Category
selection #Ficors + | Autodesk Revit. DB BuiltinCategory
All Elements at Level
Alll Instances of Category
All Elements of Category L

All Elements of Family Type

All Elements of Type Placeable (Non-System) Family Types
Tall Cabinet-2 Door-Built in:24™ » | Family Type

=

Element Types: All Instances of Family Type
/] Ly: Tall Cabinet

Family Types Family Type Elements b

Floor Types

Get Family Para meter
System Family Category

=z Floar > | Types

Select Divided Surface ramilie

Select Edge
select Face All Instances of System Category
element type elements

Select Model Element

Select Model Eleme >

Floor Types N
E" Slab on Grade « | Floor Type

Select Point on Face

Select UV on Face
Structural Framing

SunPath Direction ‘Watch

> >

wall Types

6" 5lab on Grade 1145
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category, family, type, instance

Projectl.rvt - Project Browser ] Model View Area

- Flex Pipes -
- Floors

- Mechanical Equipment
Instance

- Pattern

- Pipe Fittings CategGrY

- Pipes

- Plumbing Fixtures

2 keg —=Family
L. 1/2 Barrel

1/4 Slim

\M1/6 Slim

z--F'Dng,r

Instance

Ty?rpes

- Profiles

- Railings

- Ramps

- Roofs

- Sprinklers

- Stairs

- Structural Area Reinforcement

- Structural Beam Systems

Chmamtiawal Cavimadadinme-

v || yor=1o" AP GG ERE P o <
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Categories

Categories

Generic Models ~

Category

All Elements of Category

Elemnents

List

L=RL- - B N = Y I AT I

§L2 EL1

1H_4x6
1H_2%3
1H_2%2
1H_1x2
3H_1x2
1H_1x2
1H_2w3
1H_2w3
1H_1x4
1H_2w3

187 1H_2%3
210 1H_1x2

442511
444642
444905
445133
445274
445435
445493
445553
445573
445093

446005
446117

123}

&
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FamilyTypes

MBD_oneBrickGenericFlat:1H_2x3 v | Family Type Family Type Elements = =
List
@1 1H_2x3 444542
I8 1H_2x3 445493
20 1H_2x3 445553
30 1H 2x3 445003
0 1H_2x3 446005
50 1H 2x3 | 446510
BL2 gL1 16}
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SystemFamilies

Element Types All Elements of Type

Wall v | Types element type elements

= =

Empty List
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> >
List

@0 14 _4x6 442511
- I 1H_2x3 444642
e e or instance =
301H 1x2 445133
40 3H_1x2 445274
50 1H 1x2 445435
BN 1H_2x3 445493
70 1H_2x3 445553
B 1H_1x4 445573
9N 1H_2x3 445993

380 1H_2x3 446005

TN AH v AARIT

BL2 gL1 {500

. Categories All Elements of Category
G et type . Generic Models « Category Category Elements

list > int = =

y 58

. All Elements of Family Type
G et I n Sta n Ce oneBrickAngle:1H_1x2 v | Family Type Family Type Elements list > int . >

List
Bl 1H_1x2 526203
0 1H_1x2 571638

8Lz g1 {2}
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get type & instance paramters

g8 Category : Generic Models
I3 Type Mame : 1H 1x2

320 Type Image : <None>

23 Design Option : -1

24 OmniClass Title :

450 Cost : 8.15

TES Manufarturar -

BL2 AL {36}

20| OmniClass Number :
31 VolBrick : 893.489836
o L_factor : 2
5l W_factor @ 1
&Y Keynote :
e o : 7 Type Mark :
P ——— ement.Parameters g ﬁ;s?m:;y Code :
Get type parameters: enen Perameted :
.

oneBrickAngle:TH_1x2 ~ | Family Type

Parameter.ParameterByName

element > Parameter

name >

H_factor : 3

Get instance parameters:

Element.Parameters

element

Parameter[]

J List
~0 List
8% Level : Leal
Type Name :
Type Id @ 526177
Level : Leal
Volume : @.81 m?
Phase Created : New Construc
Host : Level : L@l
oB_BrickMat : oB_clear
Design Option : -1
Area : @ m?
1@ Host Id : -1
31 Family Neame :
12 Image : <Monex>
13" Phase Demolished : None
34" Family and Type : oneBrickd
HEN Marl -

FLIEL2 GLL {50}

All Elements of Family Type

Family Type Elements

LN S T

Parameter.ParameterByName

Parameter

String

oB_BrickMat =

List
8" oB_BrickMat : oB_clear
1" oB_BrickMat : oB_grey

{2}

62 81
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set l1nstance paramters

Set Type Parameter

Select Model Element
Elements.Type

._-\'-—-l element > Element

Element

Element : 485962

Element.SetParameterByName

element > Element = =

parameterName > Family Type: 3H_1x1, Family: oneBrickGe

value >

Number Slider

Set Instance Parameter

Select Model Element String

EIETIE oB_BrickMat | =

Elermnent : 485062

Element.SetParameterByName

element > Element - -
parameterhame >
3H_1x1 485962
value >
I

Material.ByName
Material

String

oB_clear =
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code block

Code Block
Numbers
3.140 >
]
Stngs m
Less is more. > (m]
Sequences
Ranges
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code block

List GertitamAtindex

list var[l. 1)

Get ltem at Index _'m o myList myList[1]; | =
1o = Pr

=} L

_m:-:- S :l—-d-'\-d-:--‘:l = A

Create List e WA (0,3, "datastring"}; |>
| f : :
|-:|.n.':-mr; *

Code Block
Ilbau!l+!lhau5"; }

Concatenate Strings E String1

Code Block
24+2==4220:16; | >

Number

Conditional Statements

Number

Number

Number

10.000 >

% Hanze



Make lists and get items from a list

Make lists with braces (a.k.a. "curly brackets"). Get items from a list with brackets (ak.a. "square brackets").

lists

Makce Fists with braces. Gat items from a st with brackets.

Code Block Code Block
{"San Francisco™,"New York","Chicago}; > = > CIieS | citiesp2l; >
o 4 List Chicago
[8] 5an Francisco
[1] Rew York

[2] chicago

Code Block Watch

Code Block

str = "alpha™; > = Phenetic | phonetic(2.3); >
1 =" - 4 List o 4 List
i beaa . [e] alpha [@] cherlie
str2 = "charlie”; > [1] beta [1] delta
[2] charlie
str3 = "delta”; >
; [2] delta
strd = "echo”; = [4] echa

{5tr0,5tr1,str2,str3,strd}; | =

Working with nested lists is just a variation on the theme.

Code Block Wartch

kitchen = {"table"."stove","sink", "refrigarator"); > = > list | list{2]: | »
livingRoom = {"sofa”,"books™}: s = "-”[;_ _— (0 4 '-15[:] -
] L
bedroom = {"bed","dirty clothes™}: > @] table [1] dirty clothes
rialsier
bathroom = {"tooth brush™}: ® _;} :i:;e
[3] refrigerator
4 [1] List
allMyStuff = {kitchen, livingRoom, bedroom, bathroom); > [@] safa Code Block
a [1] books
4 [2]List st | list{2I1E | > >
[2] b=d dirty cloth
[1] dirty clothes a e
4 [3] List
[®] tooth brush
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lists..

Number

1.000 | =

Number

5.000 =

Number

0.200 | =

Sequence
start >
amount >
step >

seq

1

Number

5.000 =

List

L= R TR C -
L o T N

EL2 gL

i

i

n

n

19}

&
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ists..

Sequence
Range .
Number start > seq List

5.000 = amount >

step >

m

Number

CRCRC R TR
[ S T PV A

0500 | =

gzar {9}

S
4 List

[e] e.0e0 [e] -0.500
[1] e.5@0 [1] e.ee0
[2] 1.0@0 [2] @.500
[3] 1.50@ [2] 1.e00
[4] 2.000 [4] 1.500
[5] 2.000

[6] 2.500

[7] 3.000

Code Block Code Block
9..2..0.5; | > > > -0.5..3.4..0.5; | > > >
O 4 |ist O 4 List

[e] ©.008 [8] -8.500

[1] @.500 [1] e.0@0

[2] 1.000 [2] @.500

[3] 1.50@ [3] 1.000

[4] 2.008 [4] 1.500

[5] 2.000

[6] 2.500

[7] 3.000
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lists?

Hanze



important?

list management
1s the foundation of your
coding future..

Hanze



but step by step..

one list operation per day
keeps the doctor away



add i1tem

Number

3.000 >

Code Block

.008
.008
.000
.60

List.AdditemToEnd

wu pwmnPREeEo®

[2] 1.000
[3] 2.000
[4] 3.000
[5] 4.000
[6] 5.000
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cartesian product

String.Join

separator * - string

string0

string List.CartesianProduct

comb * | - combined - =

List.Create list1 List
A 15

list2 4 [0] Last
[8] A,X
O [1] A,Y
[2] A,Z
4 [1] List
[e] B,X
[1] B,Y
[2] B,Z
4 [2] List
[@] C,X
[1] C,¥

4 |list
2] C,Z
index1 [8] X 2]

List.Create

index0 + list

index2 [2] Z
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List.Chop
list (]

subLength 4 List

4 [0] List
[@] ©.000
[1] 1.000
[2] 2.000

4 [1] List
[@] 3.000
[1] 4.000
[2] 5.600
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contain

Code Block
@..2..#3; >

4 List

[0] ©.000
[1] 1.000
[2] 2.000

Number

2.000 >

5.000 >

i1tems

List.Containsltem

list

item

bool

true

list

item

List.Containsitem

bool

false

&
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count

(0] ©.000
(1] ©.222
(2] 0.444
(3] ©.667
(4] ©.889
(5] 1.111
[6] 1.333
[7] 1.556
(8] 1.778
(9] 2.000
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http://4.bp.blogspot.com/-LqwNvPFdkls/VLjC9tIWrmI/AAAAAAAAICg/HH5KQ6XeaKc/s1600/count.png

List.Cycle

9..2..4#3; > list > >
] amount 4 List

_ O (0] ©.000

4 List [1] 1.000
[e] ©.608 [2] 2.0060

[1] 1.eee [3] ©.060

[2] 2.008 [4] 1.000

[5] 2.000

[6] ©.800

[7] 1.000

[8] 2.000
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deconstruct

Code Block List.Deconstruct

4 List O
(0] 0.000
(1] 1.000
(2] 2.000
4 |ist
[0] 1.000
[1] 2.000
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drop

Number
— P List.DropEveryNthitem Watch
9..1e..#11; | = list 0 ~ - list I > >
u amount 4 List Code Block n 4 Llist
0] 3.000 [0] 6.000
4 List ot H o B [1] 2.000
[e] 0.000 [2] 5.000 o [2] 4.000
[1] 1.000 [3] 6.000 [3] 6.000
[2] 2.000 (4] 7.000 [4] 8.000
[3] 3.000 . [5] 5.000 [e] o. [5] 10.000
H ;:g: o T [6] 9.0008 [1] 1.000
515. > 7] 10.000 2] 2.000
121 o008 7] (2] 2.000
[7] 7.000 [4] 4.000 = =
[8] 8.000 [5] 5.800 .
[9] 9.000 [6] 6.008 4 tist
[10] 10.000 (7] 7.000 [e] ©.000
[5] 8,000 [1] 1.000
° [2] 3.000
[2] 9.000 [3] 4.000
[10] 10.060 B
[5]7.000
[6] 9.000
[7] 10.008
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first/last

Code Block
©..5..#6; | >

List.Firstitem

[]

list

O O | 0.000
4 |List
[0] ©.0600 List.Lastitem Watch
(1] 1.000
[2] 2.000 list I = g
(3] 3.000
5.000

(4] 4.000 =
[5] 5.000
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flatten

=

4 List
4 [@] List
4 [@] List
[0] ©.000
[1] 1.000
[2] 2.000
4 [1] List
@] 3.000
] 4.000
5

[
[
[2] 5.808

1
2
4 [1] List
4 [8] List
[e] 0.002
[1] 1.002
[2] 2.000
4 [1] List
[8] 2.e02
[1] 4.002

ri1 c ans

1.000 >

List.Flatten

[ 9

[8] List
[e] @.ee0
[1] 1.800
[2] 2.000
[1] List
[e] 3.ee0
[1] 4.e00
[2] 5.800
[2] List
[e] @.eee
[1] 1.eee
[2] 2.000
[3] List
[e] 3.e00
[1] 4.e00
[2] 5.@00
r41 List

age

. Bga
. aga
. 8ga
. 88a
. 886
. Bea
. Bga

. 888
.e8a

4 List
(8] 8.
[1]1
[2] 2
[3] 3
[4] 4
[5]5
[6] @
[7]1
[8] 2
[2] 3
[1e]
[11]
[12]
[13]
[14]
[15]
r61

oW R =&

s B B s IO v B w s I v
b B v B ' I v ' I v ]
L w  w  wx v xR

% Hanze


http://1.bp.blogspot.com/-Ognru3yQQtA/VLjCxNFvlvI/AAAAAAAAH_s/MFESkbU_pHg/s1600/Flatten.png

get @ index

Code Block List.GetltemAtindex

L L L
— et e b b L

=

[ S = R R "
i
&2
v

L
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1s empty

Code Block List.IsEmpty
list

boaol

O

S IV (N S TR SECR
L T e T
LA R 5 B
LA 5 B

I
L
&
(]
[ ]

5
G
s

5
Y
S o
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[0] ©.000
[1] 1.@00
[2] 2.900
[3] 3.000
[4] 4.000

Number

list

sublength

List.Chop

List.Join

F

List
4 [@] List

[e] @.
[1] 1.
[2] 2.

4 [1] List

[0] 3.
[1] 4.
[2] 5.

gee
0ee
=% 1%)

5151%]
08
5151%]
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map/reverse

S

F |

List

4 [0] List
[e] 1.
[1] 2.
[2] 3.

4 [1] List
[e] 4.
[1] 5.
[2] 6.

4 [2] List
[e] 7.
[1] 8.
[2] 9.

51515
Boe
0oe

Qoe
51515
0o

0o
0oe
51%1%)

List.Reverse

List.Reverse

list [l
O i

/

>

F |

List
4 [@] List

. 000
. 806
. 800

. 800
. 000
. 000

. 000
. 800
. 000
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remove

o

List
[@] 1.
[1] 2.

0ee
pee

List. RemoveltemAtindex

list

indices

[]

>

|

List
[0] 1.000
[1] 4.000
[2] 5.000
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replace

Number

4 List
[0] 1.000
[1] 2.000
[2] 3.000
[3] 4.000
[4] 5.000
ReplaceByCondition
item var > >
replaceWith 4 List
o [0] 1.000
= condition [1] 1.000
- O [2] 1.000
X var[]..[] [3] 4.000
[4] 5.000

3.000 > y
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reverse

Number

>

4 List

[0] 1.000
[1] 2.000
[2] 3.000
[3] 4.000
[4] 5.000

List.Reverse

>

F

List
[0] 5.000
[1] 4.008
[2] 3.000
[3] 2.000
[4] 1.000
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shift

Number e
2.000 > R N
Number Watch List.Shiftindices 4 Last
[0] 4.000
1.5 > > > ‘ list [ [1] 5.000
[0] 1.000 [3] 2.000
' 4] 3.000
[1] 2.000 O [4]
[2] 3.000
[3] 4.000 List.Shiftindices
[4] 5.000
list [
Number amount 4 List
[0] 3.000
3.000 > O 1 [1] 4.000
[2] 5.000
[3] 1.000
[4] 2.000
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shuffle

Number List.Shuffle

> > >
4 |ist 4 |ist
[0] 1.000 [@] 8.000
[1] 2.000 [1] 7.000
[2] 3.000 [2] 10.000
[3] 4.000 [3] 2.000
[4] 5.000 [4] 3.000
[5] 6.000 [5] 1.000
[6] 7.000 [6] 6.000
[7] 8.000 [7] 9.000
[8] 9.000 [8] 4.000
[9] 10.000 [9] 5.000
o
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4 List
[6] 1.000
[1] 2.000
[2] 3.000
[3] 4.000
[4] 5.000
[5] 6.000
[6] 7.000
[7] 8.0008
[8] 9.000
[9] 10.000
[10] 11.000
[11] 12.000

Number

List.Slice

start
end

step

>

4

List
[6] 2.0080
[1] 5.000
[2] 8.000

Number
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sort

List.Shuffle

[6] 1.000 [0] 1.000
[1] C [1] 2.000
[2] 3.000 [2] 3.000
[3]1D [3] 4.000
[4] A [4] 5.000
[5] B [5] A
[6] 2.000 [6] B
[7] 5.000 [7] C
[8] 4.000 [8] D
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sublists

Number List.Sublists

list M > >
4 List ranges 4 List
[@] 1.000 4 [0] List
[1] 2.000 LiEl [0] 5.000
[2] 3.000 O | 4 [1] List
[3] 4.000 [0] 8.000
[4] 5.000 3.000 > 4 [2] List
[5] 6.000 [0] 11.000
[6] 7.000
[7] 8.000
[8] 9.000
[9] 10.000
[10] 11.000
[11] 12.000
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List.TakeEveryNthltem

list []
4 List Number JFgy 4 List

[1] 2.000 4.000 offset [1] 8.000

[2] 3.000 o i [2] 12.000

[3] 4.000 Number

1) Soldile 0.000 >

[5] 6.000 -

[6] 7.000

[7] 8.000

[8] 9.000

[9] 10.000

[10] 11.000 List. Takeltems

[11] 12.000 - : : :

amount 4 Llist
[0] 1.000 5000 > [@] 1.@00
[1] 2.@000 O [1] 2.000
[2] 3.000 [2] 3.000
[3] 4.000 [3] 4.000
[4] 5.000 [4] 5.000
[5] 6.000
[6] 7.000
[7] 8.000
[8] 9.000
[9] 10.000
&
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transpose

List.Chop

list [

sublength

Number

>

F

List
4 [0O] List
[0] 1.000
[1] 2.000
4 [1] List
[0] 3.000
[1] 4.000
4 [2] List
[0] 5.000
[1] 6.000
4 [3] List
[0] 7.000
[1] 8.000
4 [4] List
[0] 9.000
[1] 10.000

List.Transpose

=

¥

List

4 [0] List
[0] 1.000
[1] 3.000
[2] 5.000
[3] 7.000
[4] 9.000

4 [1] List
[0] 2.000
[1] 4.000
[2] 6.000
[3] 8.000
[4] 10.000
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unique 1item

Code Block

listl=1..3;
list2=List.Cycle(listl,3);
List.Shuffle(list2);

List.Uniqueltems

varll..[]

4 List H

list

DVVV

El] 1 4 List

[2] 3 [e] 2
[3] 3 [1]1
[4] 3 [2] 3
[
[
[
[
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diagonal lefté&right

= = ’J} =

Code Block List.DiagonalLeft

9..10..#11; list
rowLength 4 Llist 4 Llist
A 4 [8] List
4 List [8] ©.600 [@] &.000
[6] ©.000 4 [1] List 4 [1] List
1 1.060 [e] 1.000 [@8] 4.000
[2] 2.6060 [1] 4.000 [1] 9.000
[3] 3.000 4 [2] List 4 [2] List
d 4. 686 [0] 2.000 [8] 6.000
[5] 5.000 [1] 5.@00 [1] 5.000
u b .88 list [2] 8.000 [2] 16.600
[7] 7.000 4 [3] List 4 [3] List
13] 8.000 subLength [e] 3.000 (0] 1.000
[9] 9.000 [1] 6.000 [1] 6.000
[18] 16.008 [2] 9.000 4 [4] List
4 [4] List [0] 2.000
[@] 7.000 [1] 7.000
[1] 10.000 4 [5] List
[@] 3.600
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filter

List.Filter

Code Block

list > >
| condition out 4 List
[e] ©.000
4 List U [1] 1.e00
[0] ©.000 [2] 2.000
[1] 1.000
[2] 2.000
[3] 3.000 - N
[4] 4.000
4 List
Code Block [0] 3.000
[1] 4.000
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filter by bool mask

Code Block

(0] ©.000
(1] 1.000
[2] 2.000
(3] 3.000
(4] 4.000
[5] 5.

List.FilterByBoolMask

Boolean

@True ( False

List.Create

index0 +
index1
index2
index3
index4

index5

list

A

List

[0] 1.000
[1] 3.000
[2] 5.000

>

|

List
[0] 0.000
[1] 2.000
[2] 4.000
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String.Join List.LaceLongest Watch
separator * - string comb * - combined -
string0 ‘ list1 4 List
string1 “ list2 [e] A,W

O [1] B,X
O [2]1c,Y
[3]C,Z
List.Create
Watch
index0 + | - | list
index IS N - 4
index1
4 List
index2 [e] A
O [1] B
[2] C ‘
List.LaceShortest Watch
List.Create Watch comb * - | combined = >
index0 * | - | list g - list1 4 List
index1 “ LiS[t] list2 S
8] W [1] B,X
index2 [1] X O [2] C,Y
, [2]Y
index3 [3] 2
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map

>

F |

List
4 [@] List

[0] 1.
[1] 2.
. 080

[2] 3
4 [1] List

[0] 4.
[1] 5.
[2] 6.

4 [2] List

[0] 7.
[1] 8.
[2] 9.

08e
08

(%15]%]
(515]5]
(415]%]

0ee
(51515]
(51515]

List.Reverse

List.Reverse

(‘ ﬂ){)

list M
O

/

4 List
4 [0] List

3.0006
. 060
. 060

. 8006
. 080
. 8006

. 0006
. 060
. 806

>

F |

List
4 [@] List

. 000
. 060
. 060

. 060
. 060
. 060

. 060
. 0606
. 060
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combinations

Code Block

0..2..#3; > list

length

replace

List.Combinations

4 List
[0] 0.000
[1] 1.000
[2] 2.000

Number

2.000 =

list
Boolean length

@True (False =

replace

4 List
4 [0] List

[@] .
[1] 1.

4 [1] List

[@] .
[1] 2.

4 [2] List

[@] 1.
[1] 2.

alale]
alale]

alale]
alale]

alale]
alale]

F |

List.Combinations

List

A

[

[

b

b

[

[@] List

[0] .
[1] e.

[1] List

[0] .
[1] 1.

[2] List

[0] .
[1] 2.

[3] List

[6] 1.
[1] 1.

[4] List

[6] 1.
[1] 2.

[5] List

[0] 2.

ra1 a

By g

(5 161%]
(5 161%]

(5 161%]
(5 161%]

(5 161%]
(5 161%]

0o
0o

0o
0o

(5 161%]

A
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combine

+ List.Combine List.Combine
X var(]..[] p comb * -  combined comb * - combined
y list1 list1
list2 list2
| [ |
4 List 4 List
List.Chop 4 [@] List 4 [0] List
[0] 0.000 [0] ©.000
list [1] 1.008 [1] 1.000
4 List [2] 2.000 [2] 2.000
[6] 0.000 subLength 4 [1] List 4 [1] List
[1] 1.000 [@] 4.000 [0] 4.000
[2] 2.000 : : [1] 5.000 [1] 5.000
[3] 3.000 4 List [2] 6.000 [2] 6.000
[4] 4.000 4 [0] List [2] null [2] null
[5] 5.000 [0] ©.000 [3] null [3] null
- [1] 1.000 [4] null [4] null
Number [2] 2.000 [5] null [5] null
4 [1] List ' -
3.000 > [0] 3.000
[1] 4.000
[2] 5.000
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maximum/minimum item

Code Block

-

4 |ist

[0] -5.000
[1] -4.000
[2] -3.000
[3] -2.000
[4] -1.000
[5] ©.000
[6] 1.000
[7] 2.000
[8] 3.000
[9] 4.000
[10] 5.000
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repeated items

Code Block List.OfRepeateditem

4 List

[0] 1.000
[1] 2.000
[2] 3.000

Number

|

List
4 [@] List

[0] 1.
[1] 2.
[2] 3.

4 [1] List

[0] 1.
[1] 2.
[2] 3.

000
000
080

0eo
000
000
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permutations

A > index0

index1

index2

List.Create

+ - |ist

Number

Number

2.000 =

List.Permutations

List.Permutations

3.000 =

4 [0]

List
[e] A
[1] B

[2] C

] List

[8] A
[1] C
[2] B

] List

el B
[1]1 A
[2]1 ¢

(0] B

[1] ¢

[2] A

1 List
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reduce

Number List.Reduce Watch
reductor + - | reduced > =
seed 12680
list1
Code Block
O
List.Reduce
4 List X varfl.. reductor | * | - | reduced
Lel e y ~~—q seed
[1] 2.2
[2] 3.000 0o list1
[3] 4.028 “\

E
I D

List.Reduce

X var[l..l reductor + - | reduced
y M~ seed
O o[ list!

\ o

/

X varf]..[] p==—i reductor + - reduced
y = seed
O [~ list1

|
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remove i1tem (@ index

A

List
[0] 1.
[1] 2.

5151%)
5151%)

List. RemoveltemAtindex

list

indices

|

List
[@] 1.000
[1] 4.000
[2] 5.000

&
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replace by condition

Number

4 List
[0] 1.000
[1] 2.000
[2] 3.000
[3] 4.000
[4] 5.000

ReplaceByCondition

Number item
t

1.000 > replacewith 4 Li
@] 1.000

S
. [

= condition (1] 1.000

- O [2] 1.000

Number X var[l..[] [3] 4.000
[

4] 5.000
3.000 > y
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rest of i1tems

Number

>

4 List

[0] 1.000
[1] 2.000
[2] 3.000
[3] 4.000
[4] 5.000

List.RestOfltems

>

A

List
[@
[1
[2
[3

2.000
3.000
4.000

]
]
]
] 5.000
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scan
2 m

+
¥ varg.J reductor | + | - | scanned 4 List
d [@] 2.@0@
y =€ [1] 3.000
o list1 [2] 5.@2a
[2] 8.e00
Number / (4] 12.000
T | watch |
X varfl..[] reductor | + | - | scanned = =
o= ¥ seed 4 List
ol ) [e] 2.e00@
1..4; | = o list1 [1] -1.000
O [2] 3.000
] [3] ©.000
— [4] 4.000
4 List =
[1] 2.000 X var(l..ll
[2] 3.200 v reductor | + | -  scanned > >
[3] 4.e00 o seed 4 List
list1 [e] 2.e00
\\ [1] 2.08
O [2] 4.008
/ [3] 12.008
4] 48.008
x varfl..[1
y reductor | * | -  scanned
=3 E
o seed
: 4 List
list1 [e] 2.000
[1] @.508
[2] 4.008
[3] @.758
[4] 5.333
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shift i1ndices

Number

Number List.Shiftindices ~ LLEE
[0] 4.000
> > SER
4 List [2] 1.000
(0] 1.000 [3] 2.000
[1] 2.000 [4] 3.000
[2] 3.000
[3] 4.000
[4] 5.000
list
Number amount 4 Llist
(0] 3.000
S
[2] 5.000
[3] 1.000
[4] 2.000
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shuffle

Number

>

V|

List
[@] 1.000
[1] 2.000
[2] 3.000
[3] 4.000
[4] 5.000
[5] 6.000
[6] 7.000
[7] 8.000
[8] 9.000
[9] 10.000

List.Shuffle

>

A

List
[6] 8.000
[1] 7.000
[2] 10.000
[3] 2.000
[4] 3.000
[5] 1.000
[6] 6.000
[7] 9.000
[8] 4.000
[9] 5.000

&

Hanze



.well done!
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